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PapEr 11

(POLITICAL SCIENCE)

1. “Good Governance” pertains to

(A) making sure that all governments are
good.

(B) UNCTAD?’s effort to improve people
for better government.

(C) political conditionalities under the
garb of economic policies.

(D) social development under the
WTO-led trade policies.

2. Who characterised Taylorism as a tool of
monopoly capital?

(A) Chester Barnard
(B) Mary Parker Follett
(C) Harry Braverman
(D) Elton Mayo

3. Argumentative Turnin Public Policy refers to
(A) arguing with policy makers.

(B) policy makers arguing with the
political executive.

(C) relevance of argumentation, language
and deliberation in policy making.

(D) arguments to justify all policies.

4. New Public Administration emphasises on
(I) Relevance
(II) Politics-administration dichotomy
(III) Values
(IV) Equity

Choose the correct answer from the options
below:

(A) (I), (II) and (III)
(B) dI), (III) and (IV)
(C) (D, (1) and (IV)
(D) (@), dI) and (V)
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5. Which among the following was not a part
of the Washington consensus?

(A) Low fiscal deficit.
(B) Privatisation of state enterprises.
(C) Adoption of free trade policies.

(D) Narrow tax base and moderate tax
rate.

6. Who among the following has called
Weber’s ideal type of bureaucracy as unsuitable
for developing societies?

(A) Herbert Simon
(B) Chester 1. Barnard
(C) Fred W. Riggs
(D) Dwight Waldo

7. Elinor Ostrom propounded that

(A) all local resources management is
more efficient under a central public
authority.

(B) market forces are the best allocator of
value of local resources.

(C) local communities are the best at
managing and regulating their natural
resources.

(D) NGOs must play the central role in
managing local resources.

8. Which of the following are the advantages
of e-governance?

(I) It makes
accountable.

government more

(II) It minimises people’s participation in
government affairs.
(III) It lowers transaction cost.

(IV) It helps building trust between the
government and citizens.

Select the right code from the following:
(A) (D), (IT) and (III)

(B) (II), (III) and (IV)

(C) (D), (II) and (IV)

(D) (D), (III) and (IV)

5. freaflem Sy @A emiGa Ao
o] e 72
(A) 3% FEF 96|
(B) 3BT Tritod @iz |
(C) Twiz ifaey ifs oz
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9. State under neoliberal regimes are likely to
witness:

(A) Expansion of welfare activities
(B) Retreat from the social sector
(C) Both (A) & (B)

(D) None of the above

10. What did the discourse of negritude
represent?

(A) Colonialism

(B) Cultural imperialism
(C) Racial exploitation
(D) Decolonisation

11. Arrange the interest groups as given by
Gabriel Almond in sequential order using the
codes:

(i) Institutional groups

(i) Non-associational groups
(iii) Associational groups
(iv) Anomic groups

Codes:

(A) (iii), (ii), (iv) and (i)
B) (i), (iii), (iv) and (ii)
(C) (i), (iv), (i) and (iii)
(D) (iv), (), (iii) and (ii)

12. Michels’ ‘Iron law of oligarchy’ was
conceptualised on the basis of the study of

(A) German Social Democratic Party.
(B) Republican Party of the U.S.A.

(C) British Labour Party.

(D) Communist Party of the Soviet Union.
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13. Who among the following first developed
the concept of general systems theory?

(A) Ludwig Von Bertallanffy
(B) Colin Cherry

(C) Robert K. Merton

(D) Talcott Parsons

14. Who among the following used the concept
of ‘Print Capitalisam’?
(A) Dennis Dalton
(B) Benedict Anderson
(C) Louis Althusser
(D) Michel Foucault

15. Which of the following is not considered as
a dimension of political culture?

(A) Cognitive
(B) Behaviorial
(C) Affective
(D) Evaluative

16. The first political philosopher to have
proposed a classification of Constitutions was

(A) K. C.Wheare
(B) Walter Bagehot
(C) Lord Bryce

(D) None of the above

17. Which of the following was not a settler
colony?

(A) Ghana

(B) Algeria

(C) South Africa
(D) Zimbabwe

13. fasfeafiie afema T & 299 AR
JRBIENT OG- LIl 9T (ST 2
(A) TTTZY S JGIETIE
(B) Jfe (&
(C) 7al6 . o
(D) TIeReG AT
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18. Post-Development:

(I Offers a thoroughgoing critique of
modernism

(IT) Highlights that development stands
like aruin in the intellectual landscape

(III) Offers a coherent theory and
programme of action

(IV) Ignores grassroots movements as
complicit in developmentalism

Select the right code from the following:

(A) (I) and (II) are correct.

(B) (), dI) and (III) are correct.
(C) (D, dI) and (IV) are correct.
(D) None of the above

19. The conceptof Civic Culture was developed
out of a survey of:

(A) Mexico, India, Pakistan, U.S.A. and
U.K.

(B) U.S.A., U.K., Mexico, Germany and
Italy

(C) U.S.A.,U.K., Australia, Pakistan and
India

(D) Australia, Canada, U.S.A., U.K. and
France

20. Majoritarianism implies
(A) rule by majority
(B) proportional representation
(C) consociationalism
(D) None of the above

21. Which of the following is not classified as
a new social movement?

(A) Working Class Movement.

(B) Movement by the Sexual Minorities.
(C) Women’s Movement.

(D) Environmental Movement.
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22. Which innovative concept was coined by
Hamza Alavi?

(A) Underdeveloped State
(B) Soft State

(C) Overdeveloped State
(D) Islamic State

23. Robert Putnam’s concept of social capital
is associated with the following approach to the
study of comparative politics:

(A) Institutional

(B) Political Culture
(C) Political Economy
(D) New Institutionalism

24. Which of the following books is not written
by Max Weber?

(A) The Ruling Class

(B) Protestant Ethic and the Spirit of
Capitalism

(C) Politics as a Vocation

(D) Economy and Society

25. Given below are two statements, one
labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the
codes below:

Assertion (A) : Presidential system
provides for a stable
governance model for afull

term.

Reason (R) : Centralization of power is
inherent in presidential
system.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both(A)and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

X-8

22. fwffee Swife giaeia e S @t gws
SIS 5 FCARET 2
(A) FEHTS AG
(B) (1T A1
(C) wIfo-Te 3
(D) T A1

23, OIS AEted [WFe @9 giete
AR 76 A ARG Aferm armenfG Fofe 2
(A) i
(B) wreefes <gfe
(C) Ao SIS

(D) =T afeiaam

24. FsfeIie @MW W SRR @y
(A) 77 Fere T
(B) CANGFHIT «GfeF ee 7 FRIRG @rve
FfeGres
(C) floF @ier & cS1i
(D) 2 ST ARG

25. Sis o [RJFS =g, a9 @3 2o7 (A) @
s I (R) e fffe | [yfeaf site Tiwa
(I TS AT © fistel e ¢

2oz (A) ¢ AGAfIPe *ivwrag o

Rt @ FoRs =R

TS TARIAT A |
3 O (FUF AGIfeHlifre

MG ARSI |

& (R)

HLF© 3
(A) (A)«aR(R) 7621 €3 (R) AT
(A) & Y A |

(B) (A)«3:(R)wzf 7oy &g (R) AT
(A) & T

(C) (A) 79y, 58 (R) e
(D) (A) fan, 58 (R) 9y |



26. Which among the following is not a
significant aspect of the genealogical concept of
power?

(A) Knowledge

(B) Surveillance

(C) Resistance

(D) None of the above

27. The policy of protective discrimination
seeks to promote which of the following?

(A) Formal equality
(B) Substantive equality
(C) Inequality

(D) Meritocracy

28. Which one of the following pairs is
mismatched?

Books Authors
(A) The Wretched of (i) Frantz Fanon
the Earth
(B) World Order (i) Henry Kissinger
(C) Implosion of (ii1) Samir Amin
Capitalism
(D) Neo-colonialism:  (iv) Julius Nyerere
The Last Stage of
Imperialism
29. Locke’s view on ‘state of nature’ is

(A) Pre-social

(B) Pre-political

(C) Pre-social and Pre-political
(D) Social and Political

X-9
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30. Match the following theorists with their
respective theories:

(a) Jeremy Bentham
(b) Hannah Arendt
(¢) Frantz Fanon

(1) Total Resolution
(ii) Republicanism
(ii1) Post-colonialism
(d) Jayaprakash Narayan (iv) Utilitarianism

Choose the right codes given below:

(@ (b) (© (@
(A) (i) (1) @1 (@Gv)
B) @Gv) @) @i ()
©) G @ GaGv) (ii)
D @ @) (i) (@v)

31. Which of the following is not true?
(A) Lenin called for abolition of the State.

(B) Ecologism and environmentalism are
not the same.

(C) Pluralism calls for concentration of
sovereign power in the State.

(D) Post-modernism calls for the collapse
of grand narratives.

32. Through ‘genealogy of power’, whose
methodological concern is to look at the ways in
which people govern themselves and others through
the production of knowledge?

(A) Michel Foucault
(B) Pierre Bourdieu
(C) Karl Marx

(D) Antonio Gramsci

33. Whoamongstthe following theorists talked
about the ‘right to rebellion’?

(A) Mao Zedong
(B) John Stuart Mill
(C) Che Guevara
(D) John Locke

X-10
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34. Whoamongthe followingisnot asignificant
theorist of nationalism?

(A) Robert Dahl
(B) Ernest Gellner
(C) Anthony Smith
(D) Eric Hobsbawm

35. Critique of the Gotha Programme was
written by

(A) Bukharin
(B) Engels
(C) Plekhanov
(D) Marx

36. Who advocated a junction of Vedanta brain
and Islam body?

(A) Bal Gangadhar Tilak
(B) Swami Vivekananda
(C) Rabindranath Tagore
(D) Mahatma Gandhi

37. What type of person is described by
Agganna Sutta as a paragon of virtue?

(A) Sadhaka
(B) Arahant
(C) Bhikkhu
(D) Brahmin

38. Which one among the following is not
written by Sri Aurobindo?

(A) Life Divine

(B) Essays on the Gita

(C) Yoga : Concepts and Practice
(D) The Ideals of Human Unity

10-11
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39. Keep the odd one out:
(A) V.D. Savarkar
(B) Deendayal Upadhyaya
(C) M. S. Golwalkar
(D) Ram Manohar Lohia

40. The phrase ‘Vasudhaiva Kutumbakam’ is
found in

(A) Chandogya Upanishad

(B) Mandukya Upanishad

(C) Brihadaranyaka Upanishad
(D) Maha Upanishad

41. Mary Wollstonecraft was an advocate of
(A) Marxist feminism
(B) Ecofeminism
(C) Liberal feminism
(D) Black feminism

42. Who among the following did conceive
society as a “Cooperative venture for mutual
advantage, more or less self-sufficient, and
necessary governed by rules”?

(A) Robert Nozick
(B) John Rawls

(C) Karl Marx

(D) Friedrich Hayek

43. Who among the following is not a proponent
of communitarianism?

(A) Alasdair Maclntyre
(B) Michael Sandel
(C) Michael Walzer
(D) Friedrich Hayek

X-12
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44. What is cosmopolitan democracy?

(A) A form of world government with
global citizenship.

(B) Rule by world’s educated elite.

(C) Democratic government at the level
of the city.
(D) Democratic government that is

representative of a multicultural
society.

45. Which of the following statements is/are
true?

I. Marxism acknowledges the relative
autonomy of the State.
II. Marxism considers the State as merely
a tool of industrialists.
Codes:
(A) Tand II
(B) Ony II
(C) Only I
(D) None of the above

46. Which of the following texts is not written
by Marx?
(A) Capital
(B) Economic and
Manuscripts
(C) Anti-Duhring
(D) Grundrisse

Philosophic

47. “Will, not force, is the basis of the State.”
Who said this?

(A) G. W.F. Hegel
(B) Friedrich Nietzsche
(C) H. V. Treitschke
(D) T. H. Green

48. The first proponent of representative
democracy was

(A) John Rawls

(B) F. A. Hayek
(C) John Stuart Mill
(D) Auristotle
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49. Given below are two statements, one is
labelled as Assertion (A); and the other, Reason (R).
Select the correct answer from the codes below:

Assertion (A) : Machiavelli differentiated
between private morality
and public morality

Reason (R)  : Machiavelliemphasised on
the indispensibility of
public morality in statecraft

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

50. Arrange the following in the chronological
order of their establishment:

(1) National Commission for Scheduled
Castes

(i1) National Commission for Women

(iii) National Commission for Scheduled
Tribes

(iv) National Human Rights Commission
Choose the right code from the following
(A) (@), (i), (iii) and (iv)

(B) (i), (iii), (iv) and (i)

(©) (), (ii), (iv) and (iii)

(D) (@v), (i), (ii) and (iii)

51. Who among the following holds her/his
office at the pleasure of the President?

(A) Chairperson of the Union Public
Service Commission.

(B) Attorney General of India.
(C) Speaker of the Lok Sabha.

(D) Comptroller and Auditor General of
India.
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52. Which one of the following is nof within the
jurisdiction of State High Court in India?

(A) It can hear from the lower courts.

(B) It can issue writs for restoring
Fundamental Rights.

(C) It can decide the river water dispute
between two states.

(D) It exercises superintendence and
control over courts below it.

53. The total number of judges in the Supreme
Court of India can be increased by which of the
following?

(A) If there is a representation from the
Supreme Court

(B) By amendment to the Constitution of
India

(C) By an Act of Parliament
(D) By a Presidential Decree

54. Which one of the following pairs is not
correctly matched?

List-1 List-11
Chief Ministers of Governors of

West Bengal West Bengal

(A) Bidhan Chandra (i) C. Rajagopalachari
Roy

(B) Prafulla Chandra (ii) Padmaja Naidu
Sen

(C) Siddhartha Sankar (iii) Kailasnath Katju
Roy

(D) Buddhadeb (iv) Viren J. Shah
Bhattacharjee

55. Under which National Education Policy
was ‘Operation Blackboard’ initiated?

(A) 1968
(B) 1986
(©) 1992
(D) 2020
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56. As per the Constitution of India, the
appointment of Chief Justice and Judges of the
Supreme Court is spelt out in:

(A) Article 214
(B) Article 124
(C) Article 226
(D) Article 216

57. Sarkaria Commission reported on:
(A) Expansion of reservations until 2050.

(B) The meaning of Sarkar under the
Indian Constitution.

(C) Centre-State relations.
(D) Carving out of new States.

58. The doctrine governing the term of office
of the Governor of an Indian State is:

(A) Fixed term

(B) Juridically defined

(C) Pleasure of the President
(D) None of the above

59. Which of the following is not a peasant
movement?

(A) Kheda Movement.

(B) Silent Valley Movement.
(C) Telangana Movement.
(D) Tebhaga Movement.
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60. What are the reasons behind India’s
characterisation as a quasi-federation?

(I) Unified judicial system.
(II) Institution of transversal power
sharing.

(III) The absence of territorial integrity of
constituent units.

(IV) The governor is the appointee of the
President of India.

Choose the correct answer from the options
given below:

(A) (1) and (IV) only

(B) (I), (IIT) and (IV) only

(C) (@) and (II) only

(D) @), (1), (1) and (IV)

61. With respect to Panchayati Raj, which of
the following is/are true?

(I) Social inclusion is not a part of the
institutional design.

(II) Traditional institutions play a
gatekeeping role.

(III) In most states, devolution of funds
and functions has been ignored.

(IV) Panchayats have no powers of
taxation.

Choose the correct answer from the option
given below:

(A) Only (I) is true

(B) (I) and (II) are true
(C) (I) and (III) are true
(D) (I) and (III) are true

62. What is the purpose of the writ jurisdiction
provided for the higher judiciary in the Constitution
of India?

(A) To facilitate implementation of State
policy.

(B) To protect higher constitutional
functionaries.

(C) To protect fundamental rights.

(D) To resolve interstate disputes.
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63. The purpose of employment guarantee
schemes such as MGNREGA is

(A) tothrow good money after bad policies
(B) toensure the poor can buy fixed assets

(C) toensureincome forthe poorestduring
the lean season

(D) toexpandrural coverage of insurance

64. The focus of the First Five Year Plan was

(A) industrialisation and the secondary
sector.

(B) agriculture and the primary sector.
(C) services and the tertiary sector.
(D) aviation, shipping and transport sector.

65. Planning Commission was
(A) a constitutional body.
(B) a statutory body.
(C) aparliamentary creation.
(D) ajuridical creation.

66. Who theorised civil society groups as
harbingers of political transformation?

(A) Rajni Kothari
(B) Myron Weiner
(C) Francine Frankel
(D) Partha Chatterjee

67. The Basic Structure Doctrine about the
Constitution was enunciated by the Supreme Court
of India in

(A) Golaknath Case (1967).

(B) Kesavanand Bharati Case (1973).
(C) S.R.Bommai Case (1994).

(D) None of the above
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68. Which of the following is/are characteristic
of caste?
() Endogamy
(II) Hereditary membership
(IIT) Exogamy
(IV) Based on concepts of purity and
pollution.
Choose the correct answer from the options
given below:
(A) (D only
(B) (@), (I) and (IV) only
(C) (I) and (III) only
(D) (D), dI), (1) and (IV)

69. InAnuradhaBhasin V. Unionof India (2020),
what did the Supreme Court of India declare?

(A) Right to access Internet is a
fundamental right.

(B) Right to access the internet is not a
fundamental right.

(C) Right to freedom of speech and
expression and the right to practice
any profession or trade, etc. enjoy
constitutional protection.

(D) None of the above

70. Who among the following advocated party-
less democracy?
(A) C.Rajagopalachari
(B) Krishna Menon
(C) S. A. Dange
(D) Jayaprakash Narayan

71. The Constituent Assembly that enacted the
Constitution of India was set up

(A) underthe Cabinet Mission Plan, 1946.

(B) under the Indian Independence
Act, 1947.

(C) under a resolution of the Provisional
Government.

(D) under a decree of the Governor
General.

10-11

68. FFIe @0/ @l witea @2
(1) sefar
(1) IHTFRRE ATl
(1) 3f=[ar=
(V) siii@el g2 SeiRgem «RedR S
Afsfore
e Remelm (A o Tea o e ¢
(A) @ (D
(B) wy=ig (1), (I) €<% (IV)
(C) wyIg (1) €% (III)
(D) (1), (ID), (IIT) @< (IV)

69. SIS I S AR (2020) STSEAR
SIS Al @G F el FafRE 2

(A) NS IR G0 o1 S |

(B) SI@E s A2 G (e SIfzpia 717 |

(C) AT, TSI T T SR
G CRICAT ol QT <Al F1
IR AR 7 IR |

(D) Toltad @ITE T

70. FHG (F Wzl 91orEd FA A0 ?
(A) B FresnsiieTsiat
(B) F (=
(C) . Q. TSt
(D) e IR

71. OISR ol Kl ovetolfaam
glfere =7
(A) 1946 AR FREG BT 2w
S |
(B) 1947 (13 SIFS FIHITO! 2 S |
(C) SFIT THFET 2B SPACA |
(D) &3 (IR i Sepie |

[ Please Turn Over ]



10-11

72. Which one of the following Fundamental
Rights was described as ‘the heart and soul of the
Constitution’ by B. R. Ambedkar?

(A) Right to Equality.

(B) Right to Religion.

(C) Right to Freedom of Expression.
(D) Right to Constitutional Remedies.

73. The term ‘Sanskritisation’ was defined by
(A) Andre Beteille
(B) Rajni Kothari
(C) M. N. Srinivas
(D) B.R. Ambedkar

74. Which one of the following is/are
Constitutional bodies?
(I) National Commission for Scheduled
Tribes.
(I) National Commission for Minorities.
(III) National Commission for the
Protection of Child Rights.
(IV) National Human Rights Commission.
Choose the correct answer from the options
below:
(A) (D) only
(B) (I) and (IV) only
(C) {I), (III) and (IV) only
(D) All of the above

75. Match the following:

1. Crisis of a. Susanne
governability Rudolph and
Lloyd Rudolph

2. Weak-strong State b. Achin Vanaik
in a rich-poor

Economy

3. Romance of the c. Atul Kohli
State

4. Bourgeois d. Ashis Nandy
Democracy

Choose the correct answer from the
following:

(A) 1-¢,2-a,3-d,4-b

B) 1-b,2-¢,3-d,4-b

(C)1-d,2-¢,3-a,4-b

D) 1-a,2-b,3-c,4-d

X-20

72. e @W (e itk [ 9.

N[CIn<P] ‘Wiﬁm(ﬂﬂ TV S S Qe ?@W?
(A) AT S |
(B) 4G« wIfgma |
(C) TS AT FIATOF TSI |
(D) AR Afsiuita wiasia |

73. e FM @RS weafET
(A) S ([@CO
(B) I
(C) 9. @=. |
(D) R. =7 =eEva
74. RIS @0/ @Rl AR A2 2
(D) owffer SvaAior oo Srelm S
(I1) FRRJETIWR &) SO oIl
(IIT) Tére ST THIT T SOl Fi
(IV) SR A=RIEHF e
e Rl s A Tex v e ¢
(A) wga (D)
(B) wywIg (I) €. (IV)
(C) sy (11), (1) bR (IV)
(D) Toltaa 708

75. Rk AldFeia @ ¢
1. P T FAOT o, G FOAT 6

D TG FOF
2. YA ACG 4el- b, Wb AR
LELACREIEE]
3. AJEETTS @ ¢, S (@I
4. sl sireg d. SRt st
(o T oo e ¢

(A) 1-¢,2-a,3-d,4-b
(B) 1-b,2-¢,3-d,4-b
(C) 1-d,2-¢,3-a,4-b
(D) 1-a,2-b,3-c,4-d



X-21

76. The theory of ‘development of
underdevelopment’ was propounded by
(A) Samir Amin
(B) Immanuel Wallerstein
(C) John Brenner
(D) Andre Gunder Frank

77. Given below are two statements, one is
labelled as Assertion (A) and the other labelled as
Reason (R): Read the statements and choose the
correct answer using the code given below:

Assertion (A) : Theattemptstocollectively
enforce humanrights atthe
international level began
after 1945.

Reason (R) : Earlier the relations
between a sovereign state
and its people were strictly
considered a matter within
domestic jurisdiction.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(C) (A)is true but (R) is false.
(D) (A)is false but (R) is true.

78. Wallerstein’s world system pertains to

(A) the system that governs the whole
world.

(B) asystem of trade across the world.

(C) a system of socialism that gradually
covers the entire world.

(D) asystem of capital accumulation that
functions as of it were the world.

79. Who among the following was not a part of
the Non-aligned movement?

(A) Jawaharlal Nehru
(B) Kwame NKrumah
(C) Gamal Abdel Nasser
(D) Nikita Khruschev
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80. G-20 members are
(A) 20developed anddeveloping countries.
(B) 19 countries and the European Union.

(C) 15 countries and 5 regional
organizations.

(D) 16 original members and 4 observer
States.

81. FIPIC Summit of 2023 signifies

(A) growingties between Indiaand Pacific
Islands countries.

(B) measures to improve population
control.

(C) collective efforts to meet problems of
power production and distribution.

(D) None of the above

82. Which of the following agreement(s) has/
have been concluded between India and the United
States?

(A) LEMOA

(B) COMCASA
(C) BECA

(D) All of the above

83. India became a member of the United
Nations in

(A) 1945
(B) 1947
(C) 1949
(D) 1951

84. Which of the following is not a feature of
contemporary globalisation?

(A) Freetransborder movementoflabour.
(B) Outsourcing.

(C) Global circulation of capital.

(D) Time-Space compression.
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85. Which organ of the UN is responsible for
co-ordinating the work of'its specialised agencies?

(A) General Assembly

(B) Economic and Social Council
(C) Security Council

(D) Secretariat

86. RMA, for the armed forces implies:
(A) Regulated Military Administration
(B) Rules of Moral Application
(C) Revolution in Military Affairs
(D) Rapid-Action Military Agencies

87. Which of the following has declared itself
a single-state Nuclear Weapons Free Zone?
(A) Nepal
(B) Mongolia
(C) Austria
(D) Poland

88. The ‘X-Article’ advocating a policy of
containment was authored by:
(A) Hans Morgenthau
(B) George Kennan
(C) McGeorge Bundy
(D) Walter Lippman

89. The South Asia Free Trade Agreement
(SAFTA) has not been a success because of the
following:

(I) Narrow export base of the member-

countries

(I) Lackofbilateral free trade agreements
among the member-countries

(III) Political hurdles

(IV) India-Pakistan rivalry

Select the correct answer using the codes

given below:

(A) (D), (II) and (IV) only
(B) (I), (I) and (III) only
(C) (@) and (II) only
(D) (I) and (III) only
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89. R G417 & Aoy pfE (SAFTA) Fgferie
(I PR AT T 2
() Twep-Aigales I aaiF fofe|
(I) Tp-Age k@ st afdsy piea
IS |
(IlI) FEfes Afeqmae |
(IV) SiFe-shifssia &faet |
e e fefers Al Tex e ¢
(A) B (1), (1) @3 (IV)
(B) sg=i@ (I), (II) €3 (I1I)
(C) wyi@ (I) @3g (ID)
(D) ©EIg (1) 9% (111)
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90. Which term corresponds most closely to
the ancient Indian understanding of dharma?

(A) Ethics

(B) Edicts of the king
(C) Statute

(D) Conscience

91. Match the authors with their works:
(1) S. Jaishankar (a) India and
Asian
Geopolitics

(i1) Shivshankar (b) The India way

Menon
(iii) Shyam Saran (c) Diplomatic
Channels
(iv) Krishnan Srinivasan (d) How India
Sees the World

Choose the correct answer from the codes
given below:

(A) (1) (a), (i) (b), (iii) (c) and (iv) (d)
(B) (@) (b), (i) (a), (iii) (d) and (iv) (c)
(©) @ (d), (i) (o), (iii) (b) and (iv) (a)
D) (@) (o), (i) (a), (iii) (b) and (iv) (d)

92. Who elaborated the view that there exists a
tension between the protector of citizens’ security
and the State as a threat to its own individuals?

(A) Alexander Wendt
(B) Barry Buzan
(C) John Galtung
(D) Hans Morgenthau

93. Identify the book that triggered
environmental awareness in the 20th century:

(A) The Sea, the Sea

(B) Birds of a Feather
(C) Silent Spring

(D) The Imperial Animal
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90. fAcyIe @G 2B SITew @y ¥FT
Forwl ool 2

(A) Sfe=irg
(B) eI
(C) f&fa
(D) &=
91. fNFIe TR A SIE Abe @Al
(&I
() 9. TERF (a) 33 ee
G
ferasifeifoa
(i) F==a e (b) 7 & e
(iii) I == (c) Tecarmfoe
brleepT
(iv) Fe AP (d) a@?@zzw%-
77 ST
T (re7l AFesiia Ty (A AT Ted
e eel 2

(A) () (a), (i) (b), (iii) (c) @R (iv) (d)
(B) (1) (b), (i1) (a), (iii) (d) 9% (iv) (¢)
(C) (1) (d), (i1) (o), (iii) (b) @R (iv) (a)
(D) () (¢), (1) (a), (iii) (b) @I (iv) (d)
92. Efie FfEaNeR T & = FET @

TefaFoE Faieea a5 ReTE A% R ST Teres®
afea dfs Sif anfad e 75— @3

R DIICATCS 9RICR ?
(A) NEEGR SRS
(B) =ifs g&i=
(C) & aipR
(D) 27 SIS

93, R *OAITS AR AGGTO! 90T (O @
326 =% i T ¢
(A) 7 3, 7 7
(B) T &% G AT
(C) 72D f2re
(D) 17 2~Ifzze St
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94. Bretton Woods institutions include:
(A) UN, NATO and NAFTA
(B) World Bank, IMF, WTO

(C) International Bank of Settlements,
Basel Convention on Hazardous
Wastes and the Kyoto Protocol

(D) None of the above

95. What is the full form of START?
(A) Strategic Arms Reduction Treaty
(B) Strategic Arms Reduction Tribunal
(C) Strategic Arms Reduction Truce
(D) Strategic Attitude Raising Treaty

96. The end of the Cold War did not facilitate
(A) rise of non-traditional security issues.
(B) moves towards a multipolar world.
(C) greater focus on human security.

(D) resurgence of European powers in
world politics.

97. Summit Diplomacy is the other name of
(A) Negotiation by career diplomats
(B) People-to-people contact
(C) Back-channel diplomacy

(D) Diplomatic exchanges by heads of
governments/States

98. Non-refoulement pertains to—
(A) Climate Change
(B) Peace Mission
(C) Failed State
(D) World Refugees
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94. (&5 TTA AfSHIETT TEYS ¢
(A) UN, NATO, 43¢ NAFTA
(B) f an%, IMF, WTO
(C) SISEITes AT VR, Koiesaas ee74

@A NS Fecoa @2 FRIG!
(AT

(D) TR @R

95. START &3 [Cdl <1 Fi 2
(A) G st e G
(B) e oI feisia Gizgreie
(C) YIGRE= ot o=l 5
(D) G wnibyre @2fer G

96. 1T FUREN FWIUT T FFe @0

Gk

(A) wIlore 3 ARyl Sue |

(B) T2 M e waaifs |

(C) =R 7 ToiF SNae @R (&l |

(D) f™ FEaifere TewEAR =feslm
F]TELI |

97. Tz FoaIfes wigf 2=

(A) (MR FoN ST A S-S

(B) 3@ W@ Q&Meal
(C) Refeoie FHaIle

(D) IR/ AGRLITA T PO (K

98. Non-refoulement-4< ACK T JEET—
(A) TERIY oIffade
(B) *Iifg i
(€) T4 =g
(D) 3 Tare
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99. Which of the following is not the basic
principle of Hans J. Morgenthau’s realism?

(A) Politics is rooted in human nature
(B) Politics is autonomous

(C) Nationalinterestis defined in terms of
power

(D) Politicsis governed by universal moral
values

100. Game theory in International Relations
assumes which of the following?

(A) Rational choice behaviour from actors

(B) Impulsive choice behaviour from
actors

(C) Culturally conditional response from
actors

(D) None of the above
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99, fFferiie @Eh ™ (& T[ENAT-9F
AIAITE GNferss e 7372

(A) Freaifes RFe Sitg < b

(B) dreAife F=ifre

(C) Trel 7Y FkefTe =7 Ao 7
(D) FEIS TG (e e =l

Afvifere =@

100. VST AT FIOIGG B FHOE
DI P 2
(A) T IfeTTe A=RET S5a
(B) T ITEF SI@912e ARBES S5
(C) FleEaAHroT AfoqFiruss aif il
(D) Tolaa IIEAIDE o
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